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Question 5

(a) The average rate of change of f on the mterval 0 < x < 7 1s
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The slope of the line tangent to the graph of f at x = 37'?
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The absolute nunimum value of fon 0 £ x £ 27 15 —
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Because g 1s differentiable, g 1s contmuous.
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By L'Hospital’s Rule,
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1 : answer

[1: f(x)
"] 1:slope

1:sets f'(x)=0

N 1 - 1dentifies x = % x= %{
as candidates
1 : answer with justification
r - ) ] }I—
| 1: g 1sconfinuous at x = 5
3-4 and hinuts equal 0
| 1:applies L'Hospital's Rule
[ 1:answer

Note: max 1/3 [1-0-0] if no limt
notation attached to a ratio of
derivatives



